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SPEAKING TEST - FOUNDATION AND HIGHER TIER

PART ONE
1 Principles of Marking

1.1 The Speaking Tests are marked in accordance with the Criteria for Assessment,
given on subsequent pages of this booklet.

1.2  Part 2 of the mark scheme, given on subsequent pages of this booklet, gives
written details of suggested marks for possible utterances made by candidates in
the role-playing situations. This guidance obviously cannot cover all possibilities
and should be used in conjunction with the Criteria for Assessment.

1.3 No allowance can be made for poor teacher conduct of the Tests. You can only

assess what you hear.

2 Mechanics of Marking

Please ensure that the grids on the Examiner’s Detailed Mark Sheet are
completed accurately. Please conform to the layout shown in the exemplar Mark
Sheet given in this booklet. Please note in particular that the Presentation &
Discussion and the Conversation marks should be recorded in the order of:

Communication, Spontaneity & Fluency, Range & Complexity, and
Pronunciation & Accuracy.

Foundation Tier

Role—plays 1 - 6 4x2=8+2= 4
Presentation & Discussion 12
Conversation 20
Maximum Total 36
Higher Tier
Role—plays 7 - 12 4x4=16+2= 8
Presentation & Discussion 12
Conversation 20
Maximum Total 40
3. Role-playing Situations
3.1 You must mark role-plays in accordance with the criteria given in this booklet and
with Part 2 of the mark scheme. You should also note the following information.
3.2 Material shown in brackets in the mark scheme may not need to be produced by
the candidate. If it is produced incorrectly it may or may not affect the mark
awarded, depending on its effect on the message conveyed. If produced it
cannot be ignored. All language produced by the candidate must be
assessed.
3.3 You should not penalise the candidate for making exactly the same mistake

either of vocabulary, structure or pronunciation twice in one role-play. (This may
be shown as n.f.p. [no further penalty] in Part 2 of the mark scheme).
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3.4

3.5

3.6

If the teacher supplies key vocabulary, whether requested or not by the
candidate, award no marks for the response, or, if a split response is identified in
the detailed mark scheme, for that part of the response.

You should award no marks where a teacher repeats a question after the
candidate has given a complete and incorrect answer. However, if a
candidate’s response shows that he/she has moved to another utterance, the
teacher should go back and try to elicit the omitted response.

In role-plays 7-12 it is possible that the candidate’s answers will not be produced
in the order anticipated. This is quite legitimate. You should enter your marks
on the Mark Sheet in the order in which the responses occur in the mark
scheme.

Presentation & Discussion and Conversation

41

4.2

4.3

4.4

4.5

You must mark the Presentation & Discussion and the Conversation in
accordance with the criteria in this booklet. You should also note the following
information.

The Presentation & Discussion is marked separately from the Conversation. You
must assess, and award marks for, each of the four categories separately -
Communication, Spontaneity & Fluency, Range & Complexity,
Pronunciation & Accuracy - for the Presentation & Discussion and then again
for the Conversation. N.B. In the Presentation & Discussion the mark for
Spontaneity & Fluency is awarded on the basis of the Discussion element only.

If the Presentation or Discussion is missing, a maximum of 2 marks can be
awarded for Communication.

You may need to listen to each candidate more than once, especially in the early
stages of your marking to ensure that you are marking each category individually.

The mark for Spontaneity and Fluency is not limited by the Communication mark,
except when the Communication mark is 0. In this case the mark for
Spontaneity and Fluency will also be 0. This applies to both Foundation and
Higher Tiers.
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4.6

4.7

4.8

Communication Range & Complexity Mark | Pronunciation & Accuracy

Mark Mark
0 0 0
1 1 or 2 marks 1or2
2 2 or 3 marks Max 4
3 marks must include
two of
Past/Present/Future
3 2, 3, 4 marks Max 5
3 marks must include
two of
Past/Present/Future

4 marks must include
Past and Present and
Future
and opinion

4 4,5, 6 marks Max 6
4 marks or more must
include
Past and Present and
Future
and opinion
Revert to 3 if 2 time frames
only
Revert to 2 if 1 time frame
only

If a mark is awarded for Communication this will inevitably lead to the award of
marks for Range and Complexity and Pronunciation and Accuracy (e.g. 1+0+0
would not be possible).

To score 3 marks or more for Range and Complexity the candidate needs to
show the ability to refer to any two of past, present and future events.

To score 4 marks or more for Range and Complexity the candidate needs to
show the ability to refer to past, present and future events and to express an
opinion. These would require an attempt at an appropriate verb form. One
example of each is required in the Presentation & Discussion and one in the
Conversation. “An attempt at an appropriate verb form” = a verb which is
recognisable but may not be completely correct. Principal Examiners will give
language-specific examples at Standardisation Meetings.

You should stop marking the Presentation & Discussion approximately 3 minutes
after the start of that section. You should stop marking the Conversation
approximately 6 minutes (Foundation) or 8 minutes (Higher) from the start of that
section of the test.

If the candidate produces a Conversation which consists largely or entirely of
material outside the scope of the prescribed Topics, you should treat the
irrelevant material as if it were silence and mark accordingly for Communication.
It is emphasised that this situation is very rare.
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4.9 If the candidate speaks on only one Topic throughout the Conversation, you
should find the appropriate band for Communication and then award up to a
maximum of 2 marks. N.B. this affects the maximum marks available for
Pronunciation & Accuracy and Range & Complexity. Given the breadth of the
Topic areas and the links between them, this situation is very rarely
encountered, if at all.

5 Exemplar Mark Sheet

See overleaf.
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GCSE Modern Languages Speaking Tests

A/

Examiner’s Detailed Mark Sheet Language Full/Short Course
* delete as appropriate
Centre No Tape No
Presentation/Discussion General
Cand Candidate’s Name Tier | R-P | Conv Role Play Conversation
T+2*
No. No. | Card. Marks S/F | RIC RC+PA | C+SF SIF| RC | PIA Total
PIA ¥3 *Q
Q* T
0001 12 C 1 3 |3 2 5 0 3 2 5 2 2 2 18
Garden, Lilly H 2
NAME. ..o (Examiner) (Please Print)
* Round up or down to the nearest whole number (i.e. 2 rounded up, '/5 rounded down, %5 rounded up)
Sheet No

Total sheets for
this centre
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CRITERIA FOR ASSESSMENT

Role-Playing Situations

Foundation Role-Play — Communication

0 Required message not communicated.

1 Comprehension difficult or ambiguous. Some relevant information
conveyed.

2 Required message conveyed even if not totally correct.

4 tasks x 2 = 8/2 = 4 marks

Higher Role-Play — Communication and Quality of Language

0 Required message not communicated.

1 Appropriate response, although inaccuracy or loss of part of the message
may cause difficulty or ambiguity for comprehension. The task may not be
fully accomplished, but some relevant information is communicated.

2 Appropriate and unambiguous response, although there may be minor
errors or omission of a minor element of the message.

3 Appropriate and full response. Quality of language is such that minor errors
would cause no difficulties of comprehension.

4 Appropriate and correct response. The task is accomplished fully and

without significant error. *
4 tasks x 4 = 16/2 = 8 marks

*Without significant error” = grammatically correct (but may contain one minor error). If an answer
contains more than one minor error a maximum of 3 marks may be awarded.

PRESENTATION & DISCUSSION AND GENERAL CONVERSATION

Communication

0 Nothing relevant communicated or what is said consists of individual words making no
coherent sense.

1 A little relevant information is communicated. The candidate responds to some
questions but replies are very brief.

2 Some messages/responses communicated, with occasional development.

3 Most of the responses communicated and developed.

4 Candidate communicates and develops all that is required with only very occasional
omissions.

Spontaneity and Fluency

0 Very hesitant and disjointed.

1 Sometimes hesitant; little natural flow of language.

2 Ready responses; some evidence of an ability to sustain a conversation; little, if any,
initiative.

3 Answers without hesitation and extends responses beyond minimal requirements with
some flow of language; may sometimes take the initiative.

4 Responds readily and shows some initiative; conversation sustained at a reasonable

speed; language expressed fluently.
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Quality of Language

Range & Complexity Marks Pronunciation & Accuracy

Occasional words which make little 0 The language used makes

coherent sense. comprehension almost impossible.

Simple vocabulary in lists, phrases or 1 Frequency and type of errors in

short sentences which sometimes pronunciation and structure often make

communicate. comprehension difficult.

Responses dependent on structures and 2 Pronunciation generally recognisable

vocabulary from stimulus but limited in but with quite frequent error. Messages

breadth and variety. Some responses in usually communicated but errors quite

simple complete sentences. frequent.

Responses generally in simple 3 Errors are frequent in pronunciation

sentences with limited vocabulary and and structures but do not usually

sentence structure. There may be the provide a barrier to communication.

occasional complex sentence. There is There is evidence of accurate use of

some evidence of a few messages going basic structures in simple sentences.

beyond a direct response to the stimulus.

Some complex sentences with a wider 4 Errors of structure and / or

range of vocabulary successfully pronunciation cause only occasional

attempted. Responses go beyond the problems with communication. Some

basic requirements of the stimulus, using more complex sentences are

appropriate reference to past, present accurately produced. Time frames are

and future events. used as appropriate but not always
well formed.

Wide range of vocabulary and structure 5 Structures and pronunciation generally

used appropriately in complex accurate causing only very occasional

responses, many of which show problems with communication. There is

considerable independence of the accurate use of a variety of tenses.

stimulus.

Wide ranging vocabulary and structures 6 Only very minor errors in structure and

appropriately used in complex and
extended answers.

pronunciation. Good accent and
intonation. All messages fully
communicated in accurate target
language using a variety of tenses.




Bengali - AQA GCSE Mark Scheme 2008 June series

The marks for Presentation & Discussion and Conversation at both Foundation and Higher will
be allocated and scaled as follows.

Presentation & Discussion Marks
Communication (in Presentation & Discussion) 4
Spontaneity and Fluency (in Discussion only) 4
Quality of Language
Range and Complexity 6 marks 4

Pronunciation and Accuracy 6 marks
Mark/12 divided by 3

12

TOTAL
General Conversation Marks

Communication 4
Spontaneity and Fluency 4
Quality of Language
Range and Complexity 6 marks 12
Pronunciation and Accuracy 6 marks

20

TOTAL

10
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SCALING TABLES FOR ROLE PLAY AND PRESENTATION & DISCUSSION

ROLE-PLAY GRID

RAW MARK SCALED MARK
16 8
15 8
14 7
13 7
12 6
11 6
10 5
9 5
8 4
7 4
6 3
5 3
4 2
3 2

1
1 1
0 0

PRESENTATION & DISCUSSION GRID

RAW SCORE FOR QUALITY SCALED MARK
OF LANGUAGE

12 4
11 4
10 3
9 3
8 3
7 2
6 2
5 2
4 1
3 1
2 1
1 0

0

11
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SPEAKING TESTS

Abbreviation
CCR - Candidate choice of response
OCR - Otherwise correct response

Role Play 1
Task 2 marks 1 mark 0 mark

Say what you would like to buy. CCR If only one item of fruit or Failure to communicate the

SN GRSIE e fC® 513 or vegetable mentioned or the information or gives an irrelevant
- answer is in incomplete sentence. | answer.

similar response.

Say how much you want. CCR If quantity or number and two Failure to communicate the
wify 7o ST o9 GF “ATes types of fruit not mentioned. information.
SIg 512 or similar response.

Say you do not want anything CCR If 71, 512 I is mentioned Fe;ilure to communicate the

else. <, 4 ﬁ? 512 91 | or similar inappropriately or says "Don't information.
response. know".

Ask how much it costs. QTR WIN FCoT? / WIN? or If WK FTST is not mentioned F?ilure :_O communicate the
similar response. appropriately or is in English. information.

12
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Role Play 2
Task 2 marks 1 mark 0 mark

Say when you want to go out. CCR If 7Y is not mentioned Failure to communicate the
ST SBICE / RBICE (or any 397 / | appropriately eg 77 / fiet or | INformation.
*[fqq1d / A< mentioned) TS | is given in English.
512 /I or similar.

Say where you are going. CCR Place mentioned but used wrong | Failure to communicate the
] s / W/*iﬁi—dl tense. information.

Al / [oR or similar place

mentioned.

Say what time you will be back.

CCR
SR Yo / #A16r / fRpieet /
T AT | or any time

mentioned.

If a particular time is not
mentioned or a wrong tense is
used. If the time is given in
English.

Failure to communicate the
information.

Ask if your parents can collect
you.

CCR
o & ST S=Ce @S A[T?
or similar response.

If ST (TS is not mentioned
appropriately.

Failure to communicate the
information.

13
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Role Play 3
Task 2 marks 1 mark 0 mark
Say when you will arrive there. CCR If the arrival time is not mentioned | Failure to communicate the
IR W (< / fow wifea / or a wrong tense is used. information.

Ri0= W SIPTERT or similar

response. Any time mentioned.

Say how you are travelling.

JiesTien™l fRAIC =Tt or any
airlines mentioned with AT or
similar response.

Failure to communicate the
information.

Say how long you are staying.

IS @F APT / g2 A / 93 ASR
IFCA! | Used correct tense
IRl Any duration of time.

If AN / FCSIMA is not mentioned

or wrong tense is used. If the
time is mentioned in English.

Failure to communicate the
information.

Ask if your cousin can come to the
airport to meet you.

of I GIRTAT SPICS AR or

similar response.

If the response is not in question
form.

Failure to communicate the
information.

14
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Role Play 4
Task 2 marks 1 mark 0 mark
Say what time your appointment CCR If the time of day is not mentioned | Failure to communicate the
> LeERICIgR | "1 fsqB1 or eg JICATA / TST01T etc. If time is | information.
similar response. given in English.
Say how far the surgery is. CCR If the distance or "how far" is not Failure to communicate the
ST FI0R2 / AT (A A= = mentioned appropriately. information.

| &t MG A1 or similar response.

Say what time you will come back
to school.

CCR
IS 76 B2 / 0

S[TCAT or similar response.

If “time” is not mentioned
appropriately. / If the time is in
English.

Failure to communicate the
information.

Ask your form tutor if he/she can
write a note for you.

CCR
AT 5 SIS 961 (TG o
TS #1FGE=? or similar response.

The response is not in question
form.

Failure to communicate the
information.

15
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Role Play 5
Task 2 marks 1 mark 0 mark
Say what food you can cook. CCR Mentioned the item but in Failure to communicate the
EINRGH /W/WQW/WW incomplete sentence. If the item information.
o is in English.
FACS AN or similar response.
Name two things you need to CCR Any two ingredients. CCR. Only | Failure to communicate the
make this dish. e T /=W / coe [ == / one item is mentioned or if the information.

& or similar response.

item is in English.

Say when you last cooked this
dish.

CCR

S AR / T AT - any day
and time in the past should be
mentioned.

If past time is not mentioned.

Failure to communicate the
information.

Ask your friend what he/she likes
to cook.

CCR
ofy & f& A TS “lew Fedl?

or similar response.

The response is in question form,
but in incomplete sentence. If
"cooking" is mentioned instead of

A

Failure to communicate the
information.

16
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Role Play 6
Task 2 marks 1 mark 0 mark
Say where you want to go. CCR If the name of the destination is Failure to communicate the
omitted. Inappropriate answer. information.
TN @ / A or a similar pprop
place is mentioned along with
TS 513
Say what time you want to go. CCR If time is not mentioned Failure to communicate the
ifS S7e B / e S5 appropriately. If mentioned day or | information.
o time of the day.
(5 (TS B12 or similar response
including time.
Ask how much the ticket costs. CCR If “WIS FC91” is not mentioned Failure to communicate the
GFU6d WIN FCe1? or similar clearly or is in English. information.
response.
Ask what time the coach will CCR If one part of the answer (39 or | Failure to communicate the
arrive there. @5 T A CW or similar CW) is missing. information.
response. Time and arrival
should both be communicated.

17




Bengali - AQA GCSE Mark Scheme 2008 June series

Role Play 7
Task 4 marks 3 marks 2 marks 1 mark 0 mark
o SR feteis v | CCR TIRA AN G I Partial response - Answering with one
T Sa | AR | fieE / TS both just one mentioned. | word or similar.
eIt B fa | communicated but in
o 31 / S5 1T the wrong tense.
Rl / RRCR or similar
response in correct tense.
= & srfkE @wee CCR Twot_activ(ijtigst . Mentioned one Answering with one
Tod I mentioned but not In activity. word or similar.
R FIAG AR / THS full sentences or used
IS (ILICS (412 or similar | wrong tense.
response.
IERERIGIERA IS G CCR7ehe / wiew / ffg | Two items of food One item mentioned | Answering with one
(ST (I LG (A% | SN TR including the favourite or the name of the word or similar.
) ) ) ) ) item mentioned but in favourite item is not
AT SICT Teolfeeetty | SIet et st / incomplete sentence. mentioned.
(T2 etc or similar
response.
o & ogia (simfeeei? | CCR If the name of one gift | Only one item Answering with one
focafeee S Tod AETE-FIS is mentioned but not in | mentioned. word or similar.
i 2 2 / a full sentence or in
yﬂ% [ cTe= [ g coirafe wrong tense.
/ St / T (et | W/
TR/ O ez or

similar response. If the
name of the gift and who
gave it is mentioned.

18
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Role Play 8
Task 4 marks 3 marks 2 marks 1 mark 0 mark
FETa 77 s e CCR & 98 and FroRA €351 & / One | Answering with
?ﬁ = Il e I ifsy B @i / 418 / ™f&w | mentioned but in inaccurate | part. eg o sfa 0_”9_|W0rd or
3l 13 or similar response. &% | Sentence. $CSI9 Only one | >har
o %! / 72 9B AT etc. answer
AT (O @NESTF CCR AT — AT G2 (& A Anrstw?f; only one Answerigg with
RI0] (ATF 6! / 66! 2@ - . ; part of the one word or
A2 (= CONCF AR / <L 91 G i mantioned question. similar.

PCQ?

| AT ©R [ @ AR
$C or similar response with

time and the person who
helps.

but with some inaccurate
sentences.

qced I (Ol 9 CCR AN 8 AR]IEE T f6Fucer | Only one answer. | Answering with
qg? 3 Qhe? S GO / Ao Q1R or Jl but with some one word or
o . similar.
similar response. ©I9, VR , inaccurate sentences.
WieA, e A1E etc. (1 mark less if any item is
mentioned in English).
Wite oy i f& wite srryy | CCR Two forms of work at home | One form of work | Answering with
@2 el FACS W G ARwE mentioned but with some mentioned. one word or
o inaccuracy. similar.

FACS A F or similar

response.

19
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Role Play 9
Task 4 marks 3 marks 2 marks 1 mark 0 mark
oY I (ATF & B34 CCR FE (ATF and FCS! I6 Partial answer Answering with one
FACO BI8? ICO! IB FIE | W 1\{(_6'1‘13 TR 23 wifag From when and for how given. word or similar.
TAE? (2ATF | AN AR (AE e | many hours mentioned but

wA4 0o 512 | [ 91 |
FACo 512 / FAC! or similar

response with number of
hours.

in the wrong tense.

AT IS FACO BIS? CCR SIS (WIiee / ey /| PRI & and FC© e Partial answer Answering with one
ol T2 BACHITS TS F49C BIZ or mentioned but with some given. word or similar.
o inaccurate sentences or
similar response. 43 / wrong tense used.
®3 AR or similar response.
T O3 FE6] FACO BIe? CCR Mention two reasons why One activity Answering with one
candidate likes to do this mentioned. word or similar.

(7o )

el Sy @ T TS FEAE |
SR Ol TRt | 93
Pl M I A IR T
ATl | or similar response

such as "pocket money
needed" and "to help

job but in inaccurate
sentence or wrong tense.

parents".
¥ (AT A2 I FCEA CCR Where and when - both Partial answer Answering with one
g TR? oA / e Qe / mentioned but in inaccurate | given. word or similar.
' ' . sentences or in wrong
BEEIGER A | 7 I /=W tonse,
FRIZ AT FCe e AT or

similar response.

20
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Role Play 10
Task 4 marks 3 marks 2 marks 1 mark 0 mark

Tielfe fF fFacaq? F9 | CCR & fF9al, $19 @iy fFo@ | Communicated Answering with
IQIRCRIGRE: Nif / qniet / o=/ s mentioned but used wrong | ©nly one part, eg one word or

& e / tense. & fov@ A FI9 similar.

G [ I & @l or e

similar response.
3701 fFace o2 S CCR 301 and & 8 Only one answer. | Answering with
F0ed 0o 59 / @51 / 4251 / #1651 fF=cal | | mentioned but used wrong one word or
IGRIGOE, e / T q0ed AT or tense. similar.

) similar response.

e S Bt A9 CCR Fco! 519 and [FoiE wiw Only one part is Answering with
FACO BIF? o el | v 92 / v / e =reE (4T3 mentioned but used | COmmunicated. :ir:r‘f”‘;"rord or

VI (A2

BIFl <496 40O 513 | (5 /

I AN MCdl or similar
response.

wrong tense.

e fte@ oo <
IERISEH

CCR
SR S i/ =S /
AEARTR-FIS / o=

&1 | v201 / BIEGT / 9361
Gl | or similar response.

What the candidate will buy
and how many - both
mentioned but in the wrong
tense.

Partial answer
given.

Answering with
one word or
similar.

21




Bengali - AQA GCSE Mark Scheme 2008 June series

Role Play 11
Task 4 marks 3 marks 2 marks 1 mark 0 mark
BETIST TS (FAF? CCR 3&I0%4 WRIGT J1-1, ©td | Mentioned two types of Only one answer. | Answering with
(,{% IERRE G ) SICE @ 199 2 or similar weather but not in full one word or
) ) Y sentences. similar.
response. 311 and 199 both
mentioned FICO (I | T (WA
«3 I AMZ are accepted.
However no marks if just seasons
are mentioned.
cog o wgher 2 CCR Name of favourite weather | Only one answer. | Answering with
@ 9B oy SN GR RIS GIREC mentioned but without one word or
o justification as to why it is similar.
AN | @ A @RI | o
A A | TS FeT (D
T | FeT = ACF | or similar
response.
«Q Y ofil & & w12 CCR Two descriptions given but | Only one answer. | Answering with
3@ @IS T3 / CRRIGH / in incorrect sentences. one word or
i similar.
TR SItF TACS AR or similar
response.
BT Ao 5 TP T2 | CCR 3EHICS Aeod 7Y faomwm | s s waad Only one partis | Answering with
fe@ o AR A 2 | T / 3A® w99l =1 | 9% mentioned but how they | Communicated or | one word or
”I% . /W S are celebrated not communicated in | similar.
( ) SIR 1 = AR explained properly or inaccurate
/ "SIt ©ICTt I Ml <= or | gyplained in wrong tense. | Sentences.

similar response including any
festival but not birthday or
wedding.

22
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Role Play 12
Task 4 marks 3 marks 2 marks 1 mark 0 mark
coIv7 fow i Wi f$2 @Bt | CCR Name of the film and | Partial Answering with
% 4area feq? NF o ey oo %[I-QT S 9% | @5 what type of film - response. one word or
- : =51 o both communicated | One answer similar.
9 M <] or similar but not in full only.
response. Any title of a film in any sentences.
language will be accepted.
a3 0! (O & fam? CCR Mentioned two Partial Answering with
E% IEERIGIR SN AW TS [ TR SR | reasons but not in response. Only | one word or
| ) - ) full sentences. one answer. similar.
O[(TF WS TH-A AR | wfeay G
O[CTl RECACR | or similar response.
@3 eyl ofi (IR wqe B | CCR Where seen and Partial Answering with
O (A2 Sfewe Meal® | ETwe e (e | with whom - both response. one word or
) % mentioned but used | Only one similar.
IHS ACK /(QICNK A (e |/ I/ wrong tense. answer.
JIf%re TR or similar response.
Glerfent oY & w@ea CCR Mentioned the name | Partial Answering with
(TS (ATdle @ ATl S 2K, 595 Qi /affTe (aliag of the programme response. one word or
’ ) > ’ but without Only one similar.
A1 (TS SR ST et w1 justification or answer.

FFOT YW / I QI AR/ GTNA
AT A SICe! &1 or similar
response.

communicated in
inaccurate
sentences.

23






